ROTARY JOINT & OTHER HYDRAULIC PRODUCTS | hEéSigsaRECHEIRS

CMO

F IR H BR ET

CMO SERIES
HYDRAULIC CYLINDER

ERSHERIT4EHEE] INSIDE STRUCTURE

CMOB

CMODR

NO S{fFPartname (= Quantity NO BffFEPart name H&E Quantity NO BfFPart name E&E Quantity

1 FEZE2 Piston rod 1 8 #(MEE Rod nut
2 FhESEET Dustproof seal 1 9 Bii#=Rod cover
3 ERFEAEE Ol seal for shaft 1 10  EIfECylinder tube
4 OZBYE Gasket 2 11 fit2Tie rod

5 TEESHET Piston seal 2 12 OB Gasket

6 3EHEE Spring washer 1 13 j&Z=Piston

7 Nut 1 14 1&imzEnd cover

EANHERGTRHE &R Specification
JHEIA#EHydraulic cylinder inside diameter(mm) d30
T{Ei78& Power Fluid
EIE#4E8Material of cylinder bareel
{EFEHEEEThe range of pressure(mpa)
{EFFiEE&EE The range of speed (mm/sec)
{EMiRE EERange of temperature(°C)

=R ERELength of standard piston (PM) 30
FTETRIR1501-2500mmEEERE (PM) 60

Piston length when the stroke is between 1501-2500 mm
FT81THER2501-4000mmEFEERE (PM) 120

Piston length when the stroke is between 2501-4000 mm

159 | & i [ &1 R 5

15 3RIBHalf snap ring

16 fiEZECopper piston

17  #EEMagnet ring

18 OZFYE Gasket

19  #E=Baffle ring

20  EFBfERWasher on shaft
21 2R Adjustable nut

= a a N A A

®40 ®50 P63 ®80 ®100

LUBiE 2 & #ER B Filtered Oil

BxdfE Carbon steel STKM-13¢/H#EE
Stainless tubes SUS 304/AL Tube A6063TDS-T5

0.3-7.0 MPA(3-70kg/Cm?2)
8~300(mm/sec)

-10 ~ + 60 (°C)
30 30 30 35 50
60 60 60 70 100

120 120 120 140 150

®125

50
100
150

$TEEIZ7)% ORDERING INDICATION
afl: CMOB-R-D-63/25-100-LB-Y

CMOB

63

25

100

LB

Z% Series

Bt
Magnetic

FIxed Cushioning Type

TRELAE
Hydraulic cylinder
inside diameter

&y Rod

1772 Stroke

BEEERN
Accessories
for body

O EERT
Accessories
for rod

CMOB #1Z#ERY
Standard type

MEOSR: AHA
R: AKHA

R:Magnet

CMOD ££2##5Y | d |
Double Rods type '-U

TE

Blank: No magnet

mzges M Blank: No cushion D: #f8I42%& cushions on both ends
F: BUZ{BI4E%& cushion on head cover B:1&ZfHI4Ef & cushion on end cover

®30 , ®40 , ®50 , P63 , P8O

f&E#EStandard  ®16  ®20 @20
ExAMax - ®25 ®30

ffESteel barrel (P30-0125)
B#fEron barrel (®40-®100)
4 TF2Standard stroke: 50, 100,

, ®100 , ®125

®25 @30 D35 D50 MEICEE: AEEEEAL)
®35 @®40 D50 D60 Blank: standard rod

BAITRE: 43K Max4m
BATE: 2.8 Max:2.8m
150, 200, 250, 300,

350, 400, 450, 500, 600, 700, 800, 900, 1000.

FA BIiZARIEY Front flange :1|

{1

FB 1&i%R8 Rear flange

LB BIEEEY Foot mount

TC E##HA! Trunnion type :m

Y YEMEEE Y joint
YP Y+Pin Y with pin
| 1BY4EEE | joint

KG i¥&h#%EE Floating joint

CA EEE# Single trunnion <[ [}
CB #E#Double trunnion = [[f

CBP CB+Pin CB with pin

CAB CA+P+CB

PHS fBR#ZEE Rod-eye joint
T TRUEEE T joint
H J2E§ZEEWelding sleeve joint

A TIFEIRIEAdjustable nut

PNEUMATIC & HYDRAULIC CLAMPS | 160



CMOB EAZE! CMOB BASIC TYPE CMOB+FA  AiEEE. CMOB+FA FRONT FLANGE TYPE

ab CE KT P+Stroke KT P+Stroke - 2.pT 4-OFD
ODE 2-PT - il
4-K
r— e OA| | — = 2A ] TIF A D
© - T == RENd = 14 T L L]F = RERS S W@ ©
—\
I o] | _ _ 11
O - P S = ) T T
@ T ® - — & o
P " PB 00 @
W E lFI1G ]| H S+Stroke N L | N 69
Z+Stroke E M |FT H S+Stroke N FR
ZF+Stroke FY
CMOD X###EY CMOD DOUBLE-END ROD
CE T P1+Stroke
s 2-PT CMOB+FB 1&%i@H. CMOB+FB ARONT FLANGE TYPE
i == Rl Ed = L T
- - 4-@FD
2-PT
UD ?g,i 1 _ . I o on = P+Stroke V P e s
- _ — _ i - T 7. —— — - @
w e &
E F1G H S+Stroke H G F+Stroke 2xE r— - - ‘ ‘
ZD+2xStroke UL —] Q — — — A X ‘* f *‘
| @ @ |
Y T — B 4D D
CMOD-A X4gmTiExES CMOD-A ADJUSTABLE DOUBLE-END ROD n e ——
E FLG H S+Stroke N _[FT FR
KE KT - P1+Stroke - 2PT AL+AST ZB+Stroke FY
. OA| gu| _ I LM F+AST _AE|.
| @ _ _ o [ = — Q
JTHHHES 8 & =ik
- | I ___ -
_ — _ 7
e el h S+Stroke e FiStroke | AH+AST CMOB+TC #aE&#gEd CMOB+TC MIDDLE TRUNNION TYPE
ZD+2xStroke P +Stroke
ZA+2xStroke+ASTEE{TFE) S+Stroke
T 2-PT
| |
QA
. gl AR S @ "H
Unit:mm - S
T O = —-
CMOB-CMOD TYPE
BORE VA ®B C [ODODEE F G H N P P1 PT K KE KT S W T Z ZA ZD AH AE QA 0AO AL N T @ @ @
T T
®0 30 16 MM4x15 50 34 28 13 15 25 25 75 75 1/4" Méx125 8 85 50 22 8 128 181 156 25 15 20 30 30 E F .G H ‘ N TX TP 1X
P40 40 20 MI6x15 64 45 28 17 20 30 30 80 80 3/8" MSx125 8 85 50 235 8 147 209 184 25 15 30 35 35 ZT+1/2Stroke TL
®50 45 20 M16x15 70 50 28 17 20 30 28 79 80 3/8" MIOx125 10 105 50 235 8 147 209 184 25 15 30 35 35
®63 55 25 M2x15 85 60 40 20 30 31 31 81 81 38" MIOXI25 10 105 50 32 13 162 247 212 35 20 35 45 40
®80 62 30 M26x15 106 74 40 20 32 37 35 91 92 12" MII5 10 13 55 35 13 179 268 233 35 20 40 50 40
100 78 35 M30x15 122 89 45 20 32 37 37 117 117 1/2" Mi4x15 10 145 80 41 13 206 298 258 40 25 45 60 45 Unit:mm
®125 85 50 M40x20 147 110 55 25 31 40 40 120 120 12" M1ex15 10 17 80 55 15 216 322 272 50 30 60 80 55 CMOB TYPE EA+EB TYPE TC TYPE
TR NOTE BORE®GA® C E F GHMN P Pl PT S T ZF ZzB FD FT FR FX FY FZ ZT TL TP TT OTU TX
®30 30 16 MM4x15 28 13 15 25 17 25 75 75 1/4" 50 8 111 139 9 11 8 34 105 52 78 8 5 25 16 16
M = ERNTIE ABANEREEET 1T F d di ing,if the length i t ified,then it should foll
mmuﬂuffﬁﬂ%};ﬁﬂ* m,\‘:ﬁi\aﬁzﬁfﬂﬂl‘, e ourocrc::ﬂ Sa?Xt'ser;timug\agfncigsrm?c;ces:neng S P40 40 20 MT6x15 28 17 20 30 26 30 80 80 3/8" 50 8 121 158 12 11 93 50 115 72 92 127 69 25 18 29
Z;C\MO%U@%%@E);WF';Eé B (P AR, TR 2. FothC“i'OSeﬁieswhosegroke‘S‘egs'sthawoomfhe‘engfhofp“stoms ®50 45 20 M16x15 28 17 20 30 26 28 79 80 3/8" 50 8 119 156 12 11 93 50 115 72 92 153 8 28 20 35
BB 1500mmEs, EERESMEHITERE. shown in the affiliated table,for those customized stroke . which is more than .
3CMOZRFITHEBIE2000mm(E) FF, ENHHEPREEREE, 1500mm,the length of piston conforms to characteristic table. ®63 55 25 M22x15 40 20 30 31 36 31 81 81 3/8° 50 13 126 176 14 14 117 60 140 90 106 170 98 32 25 36
4.CMOZRBUETRAO-SOIHELZ A TRZBBS00mm (&) LALES, WyOsois Jiege rod helger st be sl forthose GO seres whose stofe s equd ©80 62 30 M26x15 40 20 32 37 32 35 91 92 12" 55 13 147 199 14 20 152 75 180 106 1165 194 124 35 28 35
MW8*P\W'5F: e P 4. Rod thread should be changed into M18*P1.5 for CMO series bore size 40-50 ®100 78 35 M30x1.5 45 20 32 37 32 37 117 117 12" 80 13 174 226 16 20 158 90 200 125 129 222 142 38 30 40
SASTEFIBEZ I TIE, bore size whose stroke is equal to or more than 500mm.

5. AST stands for the adjustable stroke designated by customers. ®125 85 50 M40x20 55 25 31 40 36 40 120 120 1/2" 80 15 180 236 18 20 184 110 225 153 136 255 175 40 32 40

161 | & i E 51 & 51 PNEUMATIC & HYDRAULIC CLAMPS | 162



CMOB+CA EE#! Single Trunnion Mounting Type

BX

48
62
68
81
61
76
76

cv

BW

BX

LH

LN

LM

ZL oD LH

156
186
184
188
199
250
262

9

9

11
11
13
16
18

60
77
81
96
13
139
161

P+Stroke CM CN
A N 1 i
T ==l EF — = @CD
' \
I 2 - - HE ¢
—/ CR
_ — - /
E F .G H S+Stroke N
ZC+Stroke
CMOB+CB XWEZ#! Double Trunnion Mounting Type
2-PT P+Stroke BM BN
OA N !
U T — N ™\ oo
Y\
u[l g — — aF a =
S / CR
E F 1 G H S+Stroke N
ZCB+Stroke
CMOB +LB Bij#EMIEEEY Front&Rear Foot Mounting Type
E __F_.G P+Stroke 2-PT
T REEA — AREd
| g
‘o
UD ;rg _ _ o
—/
% = - - ~ %‘
(i LD
LR [ L H S+Stroke N [ T
ZL +Stroke o
CMOB TYPE CA+CB TYPE
BORE ®A ®B C E F GHN P PT S T ZC ®D CR CM CN CV ZCB BM BN BW
®30 30 16 M14x15 28 13 15 25 25 75 1/4" 50 8 159 10 10 11 20 16 162 12 22 16
®40 40 20 M16x15 28 17 20 30 30 80 3/8" 50 8 183 12 13 11 25 22 187 14 26 22
®50 45 20 M16x15 28 17 20 30 28 79 3/8" 50 8 181 12 13 12 24 22 185 14 26 22
®63 55 25 M22x15 40 20 30 31 31 81 3/8" 50 13 212 20 24 19 31 30 212 18 32 30
®80 62 30 M26x15 40 20 32 37 35 91 1/2" 55 13 247 30 30 18 50 30 247 18 50 31
®100 78 35 M30x15 45 20 32 37 37 117 1/2" 80 13 279 35 35 18 55 35 279 18 55 36
®125 85 50 M40x20 55 25 31 40 40 120 1/2" 80 15 289 35 35 18 55 35 289 18 55 36

163 | & i E &1 R 5

TB TYPE

LN LM

18
225
21
23
23
335
32

LL LR

28
38
38
38
36
48
51

35
45
46
53
60
78
87

Unitmm

T X LY
34
45
50

53
68
73
88
105
127
150

74
89
110

o VW oo o o o U
3



	页 9
	页 10
	页 11



